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#1: How much is the shirt?
AL £19.15. B. £9.18. C. £9.15.
EHEEC.

1. What time is it now?
A.9:10. B. 9:50. C. 10:00.
2. What does the woman think of the weather?

A. It’s nice. B. It’s warm. C. It’s cold.

3. What will the man do?

A. Attend a meeting. B. Give a lecture. C. Leave his office.
4. What is the woman’s opinion about the course?

A. Too hard. B. Worth taking. C. Very easy.
5. What does the woman want the man to do?

A. Speak louder.
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B. Apologize to her. C. Turn off the radio.
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6. How long did Michael stay in China?

A. Five days. B. One week. C. Two weeks.
7. Where did Michael go last year?

A. Russia. B. Norway. C. India.

Wi 7 BobbRl, BRSS9 M.
8. What food does Sally like?
A. Chicken. B. Fish. C. Eggs.
9. What are the speakers going to do?
C. Order dishes.

A. Cook dinner. B. Go shopping.
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10. Where are the speakers?

A. In a hospital. B. In the office. C. At home.
11. When is the report due?
A. Thursday. B. Friday. C. Next Monday.

12. What does George suggest Stephanie do with the report?
A. Improve it.
B. Hand it in later.

C. Leave it with him.
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